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N & o & AF & H Al A
20179 & =S0lah LB &
AN GEIEY
M 9504 =X =7
SRl G EIIEX S ALY (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
&It 0t 51,379,183 47,113,582 4,265,601
= 24,747,755
Xl 715,000
J| 1,166,236
Al 12,608,427
- 12,141,765
28 -04d =X && 44,316,549 41,103,657 3,212,892
= 23,303,355
J| 918,287
Al 9,910,847
- 10,184,060
HEIIEXF ALY 1,187,923 1,124,778 63, 145
J| 697,386
Al 322,481
- 168,056
HASSELIIE MR & 177,800 194,800 A 17,000
Al 88,900
T 88,900
301 e A= 172,400 185,800 A 13,400
Al 86,200
- 86,200
01 MI28E+06l= 172,400 185,800 A 13,400
OstE2II3E8SHIX& 220,000& =770 All CH 169,400
Al 84,700
T 84,700
ORI E=szndstdstn 2 WL
50,000& 602! 13| 3,000
Al 1,500
T 1,500
307 glz2tol & 5,400 9,000 A 3,600
Al 2,700
- 2,700
11T M SXAISE EX 5,400 9,000 A 3,600
OSRL2IIHEIIIEZ M E & SHI
120,000& »450! 5,400
Al 2,700
T 2,700
HEAEHSRIIIESAUE A 7,500 10,320 A2,820
J| 6,000
Al 1,500
301 g2 4= 7,500 10,320 A2,820
J| 6,000
Al 1,500
01 MEI2EZE+05l= 7,500 10,320 A2,820
OFELESIRE 2N E X2 ALY 7,500,000& 7,500
J| 6,000
Al 1,500
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SHEQIIETEH L= H| 603,750 472,500 131,250
J| 483,000
Al 120,750
301 LBt A= 603,750 472,500 131,250
Jl 483,000
Al 120,750
01 AISIE & A %52 603,750 472,500 131,250
OStER2IIE X E L= 603,750,000 603,750
J| 483,000
Al 120,750
SHERIIE NSstMIE =4l 16,500 87,000 AT70,500
Al 16,500
301 et A= 16,500 87,000 A70,500
Al 16,500
01 Al E & A 462 16,500 87,000 70,500
OStREZ2IIEDNSSMHTEH WU XA
16,500,000 16,500
Al 16,500
HE=XNgRFA 11,101 10,807 294
201 LBt 9H]| 2,061 1,767 294
01 AP 22| H| 2,061 1,767 294
O=3&H| 2,061
—HEEXNYRFAS2Z AL
7,000 x401 %922 x80%< & 2+ > 2,061
202 044l 3,840 3,840 0
01 2L Y| 3,840 3,840 0
OCE=XFHMSALEZ 0t
20,000 #4021 x50 *80%< & 2> 3,840
203 € R F&d| 3,200 3,200 0
03 AIZH =X 2= XY 3,200 3,200 0
L EENEEESNEES
4,000,000 «80%< & 2> 3,200
307 QI2t0| & 2,000 2,000 0
02 QIZ2IA AAIE E X 2,000 2,000 0
OUNER2HHESHMAIEH A& 2,000,000& 2,000
CI2sIEX Mg e2d 18,960 8,960 10,000
Al 4,200
- 14,760
201 et d| 560 560 0
01 AR 22l ] 560 560 0
OUSSIIEXNEI ST AL
70,000 *801 13| 560
307 QI2t0| ™ 18,400 8,400 10,000
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Al 4,200
- 14,200
11T A EXAIEEX 18,400 8,400 10,000
OUESIE=MEEZER A&
100 000 x 1000} 3 10,000
OUSSIINSXNIHEHHSANEE LS
8,400,000& 8,400
Al 4,200
- 4,200
A40E L US3IIE NSEE 29 130,046 126,054 3,992
J| 65,023
Al 32,512
- 32,511
307 2iz2to| A 130,046 126,054 3,992
J| 65,023
Al 32,512
- 32,511
11T A EXAIEEX 130,046 126,054 3,992
OALINZ L2 IIIEXNSMEH2 S
130,046,000 130,046
J| 65,023
Al 32,512
- 32,511
Z2E010X SHSEMHA XS 17,232 17,232 0
J| 12,062
Al 5,170
307 2iz2to| & 17,232 17,232 0
J| 12,062
Al 5,170
11T AISIEXAIEEX 17,232 17,232 0
OZE0|2NSHANHAXRA 17,232,000 17,232
J| 12,062
Al 5,170
Ctesits e se X1 58,912 58,912 0
J| 41,238
Al 17,674
307 QI2t0| & 58,912 58,912 0
J| 41,238
Al 17,674
ASIEXAEE X 58,912 58,912 0
OUESIIEsEHAHES KR 58,912,000 58,912
J| 41,238
Al 17,674
HEHYdE L ANHEHMHE S 2N AHA IS 106,500 106,500 0
J| 74,550
Al 31,950
307 2Iz2t0| & 106,500 106,500 0
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Al 31,950
11T A EXAIEEX 106,500 106,500 0
OPERIE=I-IDIE| SGE2NMUAXNR
106,500,000 106,500
J| 74,550
Al 31,950
St=0HuU=E 29 22,162 22,162 0
J| 15,513
Al 3,325
- 3,324
307 2iz2to| A 22,162 22,162 0
J| 15,513
Al 3,325
- 3,324
11T AISIEXAIEEX 22,162 22,162 0
(@)1 BME=ge: 22,162,000 22,162
J| 15,513
Al 3,325
- 3,324
NESADEAIS UE =201 A& 2,850 8,621 A5, 771
307 QI2t0| ™ 2,850 2,850 0
02 QI2AtAAMAIE E =X 2,850 2,850 0
OStXNUEEAIIHE 2R3 AFEH A&
2,850,000& 2,850
HRSIE Al DBt = 14,610 910 13,700
201 gEt24Hy| 13,010 910 12,100
01 AP 22| d| 13,010 910 12,100
Ogt=2H| 8,600
— A& SE Al LYW= MHE
6,500,000& *80%<&E 2> 5,200
—NEZEHEXSIEE M &
1,500,000 *80%< & 2> 1,200
—4dota X At A X
110, 000& 200 & 2,200
osd44 4,410
— A& SE Al o3 &G
70,000 1321 x23| 1,820
— &3 Al eS2AS N
370,000& *73] 2,590
301 PP B A 1,600 0 1,600
11 JIEtE A= 1,600 0 1,600
OMEZHZEI2L] S B A
20,000 200! x4 3| 1,600
SANAE2E XA 795,250 793,479 1,771
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= 7,901
J| 220,901
Al 552,228
- 17,220
SHERIIE SXAIE 29 410,742 369,642 41,100
Al 402,102
- 8,640
307 2iz2to| & 410,742 369,642 41,100
Al 402,102
- 8,640
01 s R=Hl 918 918 0
OstERIIEEXNAIEZH E A
12,0002 =340l 408
Al 408
OStERIIEE XN AL s 2 E|
15,000 %340l 510
Al 510
10 MM SAANEEHESIGHEX 409,824 368,724 41,100
OstEER2IIEEXNAE2I XA 392,544
— oAy 333,544,000 333,544
Al 333,544
— 29| 59,000,000 59,000
Al 59,000
QOStERII=EE2XNANESAIANELE LY
180, 000& x8Q1 x12& 17,280
Al 8,640
- 8,640
ANE LAT &g B X 6,700 6,200 500
J| 3,350
Al 3,350
307 QI2t0| ™ 6,700 6,200 500
J| 3,350
Al 3,350
11T A EXAIEEX 6,700 6,200 500
Ost2ER2IIESNAIEL A NASEX S XS
6,700,000& 6,700
J| 3,350
Al 3,350
JFHEe Ol R RFNEZZIY 2Y 33,019 33,019 0
J| 23,113
Al 9,906
307 giztol A 33,019 33,019 0]
J| 23,113
Al 9,906
11T A EXAIEEX 33,019 33,019 0
OJ}eZgIllAHndEXNsEZ )H
33,019,000 10 £ 33,019
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Pl 23,113
Al 9,906
I EZH AYA 2R 73,690 71,700 1,990
J| 36,845
Al 36,845
307 2Iz2t0| A 73,690 71,700 1,990
J| 36,845
Al 36,845
10 MM SXANEEHESIGHEX 73,690 71,700 1,990
OJIEZHASA2ANH 73,690,000 73,690
J| 36,845
Al 36,845
IIEES ALA 2R/ (EYLY) 3,600 3,600 0
Al 1,800
- 1,800
307 giztol A 3,600 3,600 0
Al 1,800
- 1,800
10 MM SAANEEHESIGHEX 3,600 3,600 0
OINEZHMNEASAMAEESE 3,600,000 3,600
Al 1,800
- 1,800
OlsdtEXIFAl2d 7,240 7,240 0
= 3,620
Al 3,620
201 et 9| 7,240 7,240 0
= 3,620
Al 3,620
01 AFR 2t 2| bl 7,240 7,240 0
Ogbt=2d| 3,460
—OISHEERNEAHSIEES H A
2,660,000& 2,660
= 1,330
Al 1,330
—OISHEAMXNGA USRI ARZERLY
800,000& 800
2 400
Al 400
Oo2d9sd 3,780
—0ISHEUYNMAGANRAJS A LS
1,190,000 1,190
=2 595
Al 595
—AZAEWS DA 50,000& 353 1,750
= 875
Al 875
— Al 22l E g o & A ¢ 840,000 840
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Al 1,281
201 ¢er24| 2,562 2,394 168
= 1,281
Al 1,281
01 AF2 22l bl 2,562 2,394 168
Oget=gHl 2,562
— Ots et NI M & X & 2,562,000 2,562
= 1,281
Al 1,281
AZSX L TOoH A K& A 8,438 8,438 0
J| 8,438
301 et A3z 8,438 8,438 0
J| 8,438
01 Ml28E 6= 8,438 8,438 0
OS=dIUHAES A& =2 XA A
8,438,000& 8,438
J| 8,438
SEZYIHAL ESAE 29X 201,078 196,557 4,521
J| 140,755
Al 60,323
307 glztol & 201,078 196,557 4,521
J| 140,755
Al 60,323
10 A SXAEHE2EHIER 201,078 196,557 4,521
OLZZLUHAZHAES AL
201,078,000 201,078
J| 140,755
Al 60,323
SZZIHAL g -3 T2 12,000 12,000 0
J| 8,400
Al 3,600
307 glztol & 12,000 12,000 0
J| 8,400
Al 3,600
11T M3 SXAISEEX 12,000 12,000 0
OdZdIciAxzs=2E28 12,000,000 12,000
J| 8,400
Al 3,600
AEZSTHREOH XA (AlHI) 36,181 82,689 A 46,508
Al 29,401
- 6,780
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OLEZYINNESANESENA
(HEYATRE)
10,000& » 1221 %23 240
Al 240
307 21201 A 35,941 35,941 0
Al 29,161
T 6,780
01 92724l 900 900 0
OMZATMHNSSALSEX (T =H)
12,500& * 1221 x4 3] 600
Al 300
- 300
OMZHINANESAESEXNI(EAHR2AH)
12,000& 122! 144
Al 144
Od=ZdNiNHESALESEXNIA (S EHl)
13,000& = 120! 156
Al 156
10 ALSISXAIEEE2IHEX 35,041 35,041 0
OS=ZHIUIHAEHAEZSALEEANEE Y
180,000& 621 12 12,960
Al 6,480
- 6,480
OMZAH TR LS AL EAKSEE I
11,065, 000& 11,065
Al 11,065
OLZ=ZLIUHAZHAESAIE S AL
TR 11,016,000& 11,016
Al 11,016
goly =29 9,134,939 8,868,221 266,718
= 3,366,696
Al 4,090,237
- 1,678,006
oeod 249X 255,370 203,943 51,427
Al 109,918
- 145,452
201 et 58,416 13,418 44,998
Al 43,836
T 14,580
01 At 22l 58,416 13,418 44,998
oogolgetdsd 14,580
— &It E A 60,0002 » 1984 2 11,880
—JtAQHEEHA 45,0003 604 2 2,700
OEsuXaALMd2E= 15,914,000 15,914
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Al 15,914
OgxotadlE2Eg = 27,922,000 27,922
Al 27,922
307 QI2t0| ™ 196,954 190,525 6,429
Al 66,082
- 130,872
10 A EXAEHE R =) 196,954 190,525 6,429
OAZETAESE O 2l 0] gt 54,944,000 54,944
Al 27,472
- 27,472
Ox&x XYl 1,800,000 =130 A&~ 23,400
Al 11,700
5 11,700
Oel ol HtEH X & 91,700
— 2021 0| &t 350,000 11000 & 38,500
— 2121~40Q1 0| &t 560, 0003 *20JH 2~ 11,200
— 4121 0| & 700,000 *60H 2~ 42,000
OEMFTH 130, 000& 207 4 & 26,910
Al 26,910
HElold Xe 75,334 81,882 6,548
= 45,200
Al 21,093
- 9,041
307 212t0| & 75,334 81,882 AN6,548
= 45,200
Al 21,093
5 9,041
11 A EXAIEEX 75,334 81,882 N6,548
O] 75,334,000 75,334
= 45,200
Al 21,093
- 9,041
2oy w2 14,000 13,300 700
Al 7,000
- 7,000
307 2Iz2t0| & 14,000 13,300 700
Al 7,000
- 7,000
11T AISIEXAIEEX 14,000 13,300 700
O=Z2Z28HoI WM 2H (20004 ) 14,000,000 14,000
Al 7,000
- 7,000
BK0AS olHd A& 3,986,278 3,747,665 238,613
= 2,391,767
Al 1,116,158
5 478,353
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= 2,391,767
Al 1,116,158
- 478,353
10 M ZXNANEHI2IHE=S 3,986,278 3,747,665 238,613
OE SMEIA(REACIAH])
3,438,410,000& 3,438,410
= 2,063,046
Al 962,755
T 412,609
OESSsSMUIA(KIRE)EZWALKIE AL (532!)
547,868,000 547,868
= 328,721
Al 153,403
T 65,744
AR0t OfRIO0IZ 2XE WA Q1 2AH| 84,000 102,000 ~18,000
Al 84,000
307 glz2tol & 84,000 102,000 218,000
Al 84,000
10 AL SXNAIEEE2EH EX 84,000 102,000 A 18,000
OZROIHE 0l EZ =W AR 24 ]
500,000 x1401«12& 84,000
Al 84,000
Helold wa BEsu=s 7,636 7,636 0
= 4,582
Al 2,138
- 916
307 2Iztol ™ 7,636 7,636 0
= 4,582
Al 2,138
- 916
11T ALSI S XA E = 7,636 7,636 0
ONel 08 AL XA 7,636,000 7,636
= 4,582
Al 2,138
- 916
ESUAHAA HMA KN 1,541,911 1,385,935 155,976
= 925,147
Al 431,735
T 185,029
307 glz2+ol & 1,541,911 1,385,935 155,976
= 925,147
Al 431,735
T 185,029
11 AISISAAISEE = 1,541,911 1,385,935 155,976
ESWAZREE L 1,541,911,000& 1,541,911
= 925,147
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Al 2,228,915
- 842,315
307 glz2tol & 3,071,230 3,213,180 A 141,950
Al 2,228,915
- 842,315
11T AISI S XA E = ,071,230 3,213,180 A 141,950
OS+0EoyEsnRasSEsy
550,080,000 550,080
Al 275,040
- 275,040
OAIZHI B (24412, 0F 2 B X WAL &
165,000, 000& 165,000
Al 82,500
- 82,500
Og - soilEsnASELY
540,000,000& 540,000
Al 270,000
T 270,000
OEsnXANSS A 406,800,000& 406,800
Al 203,400
- 203,400
OESNIAEE Y 100,000& =1,070¢! 107,000
Al 107,000
OBSuAEIIZESE 75,600,000& 75,600
Al 75,600
OESNANIAX™MRIHLHI 924,000,000 924,000
Al 924,000
OBguIAANZtZRaY
20,000& #7002 x12& 168,000
Al 168,000
ONE 08 EXTWATIAAY 22,750,000& 22,750
Al 11,375
T 11,375
O E=NVRSEPSSIEP] Falll 57,000,000& 57,000
Al 57,000
OEsnIAFEI Y 50,000& =1, 100¢! 55,000
Al 55,000
ER0tsHLSA 99,180 112,680 A 13,500
Al 89,280
T 9,900
307 glz2tol & 99,180 112,680 A 13,500
Al 89,280
- 9,900
01 2L =4l 99,180 112,680 A 13,500
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15,000& 1102 x12& 19,800
Al 9,900
- 9,900
OMAEE0IS2HAH] 15,000 *441Q1 x12& 79,380
Al 79,380
S A& 32,241,138 29,374,681 2,866,457
=2 19,457,544
Al 4,625,631
- 8,157,963
A= XA 20,063,601 19,481,114 582,487
=2 15,047,701
Al 3,511,130
- 1,504,770
301 et A= 20,063,601 19,481,114 582,487
= 15,047,701
Al 3,511,130
- 1,504,770
01 Al E& A 462 20,063,601 19,481,114 582,487
Og9RItEE=Xd 20,063,601,000& 20,063,601
2 15,047,701
Al 3,511,130
- 1,504,770
Sl o X 6,170,040 3,648,149 2,521,891
301 et A= 6,170,040 3,648,149 2,521,891
01 Al E& A 52 6,170,040 3,648,149 2,521,891
OFc¥3E=R= 6,170,040,000& 6,170,040
SNEEES 2,800 4,200 A 1,400
= 1,680
Al 784
- 336
301 LBt A= 2,800 4,200 A 1,400
= 1,680
Al 784
- 336
01 Al E & A 462 2,800 4,200 A 1,400
ogtsEExsas 2,800,000& 2,800
= 1,680
Al 784
- 336
ATotEE2 X & 84,000 66,000 18,000
Al 42,000
5 42,000
301 et A= 84,000 66,000 18,000
Al 42,000
- 42,000
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01 MI2EZE+06l= 84,000 66,000 18,000
OMMotEs=XI& 84,000,000& 84,000
Al 42,000
- 42,000
IMELEE X AY 5,877,551 6,130,635 A 253,084
=2 4,408,163
Al 1,028,571
- 440,817
301 et a s 5,877,551 6,130,635 A 253,084
=2 4,408,163
Al 1,028,571
T 440,817
01 MEIBEE 263 5,877,551 6,130,635 A 253,084
Otges==g i 5,877,551,000& 5,877,551
2 4,408,163
Al 1,028,571
T 440,817
HASS0tsLA22YSESISH XA 43,146 44,583 A1,437
Al 43,146
301 LAz 43,146 44,583 A1,437
Al 43,146
01 MBI SRR 252 43,146 44,583 A 1,437
OMASOIELABYLBE S SH A
43,146,000 43,146
Al 43,146
SSAMSEL S 957,299 942,498 14,801
= 474,214
Al 320,270
- 162,815
oI EEN HE ol XI&A 37,500 34,500 3,000
Al 18,750
- 18,750
307 21201 A 37,500 34,500 3,000
Al 18,750
- 18,750
11T AL SXAIEE = 37,500 34,500 3,000
OEIMIESSHAHSOIE XA 37,500
— 20210l GtAI & 15,000, 000& 15,000
Al 7,500
- 7,500
— 21210l & Al & 22,500,000& 22,500
Al 11,250
T 11,250
GIIISHE 0 EZ2 I L 2| 76,400 76,000 400
Al 76,400
307 glz2tol & 76,400 76,000 400
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Al 76,400
11T A EXAIEEX 76,400 76,000 400
OEJIeIESeloldEz )dig 2| 76,400
— 5001 0| et 53,600,000 53,600
Al 53,600
— 5001 0 & 22,800,000 22,800
Al 22,800
el old stHIMA 35,320 32,000 3,320
= 17,660
Al 8,830
5 8,830
402 SI2F X0l ™ 35,320 32,000 3,320
= 17,660
Al 8,830
- 8,830
02 QX2 A EX (0| X THSH) 35,320 32,000 3,320
OeoEIIsEd 35,320,000 35,320
= 17,660
Al 8,830
- 8,830
BF ALY & Bt 15,160 14,460 700
201 gBt2A | 9,160 8,460 700
01 AP 22| H| 5,460 4,760 700
osd44¢ 1,540
—NgESEUASEL LY
70,000& 1121 %x23] 1,540
OF=1=1s] 3,920
—BEAAS2S A
7,000 #5001 x 140 #80%< & 2> 3,920
03 HAI2 G Y| 3,700 3,700 0
oEexeExostotstizl 3,700,000& 3,700
202 o4 | 6,000 6,000 0
01 2Ll 6,000 6,000 0
OBSALEFOY
20,000 x50 x 752 x80%< & 2> 6,000
2280 0ld 24| 601,179 578,018 23,161
= 360,684
Al 168,355
- 72,140
307 2Iz2to| & 601,179 578,018 23,161
= 360,684
Al 168,355
- 72,140
11T AISIEXAIEEX 601,179 578,018 23,161
OZ22E€ 00l X2 (1600 A) 601,179,000 601,179
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= 360,684
Al 168,355
T 72,140
FRILHEH 2¢ 17,740 18,060 A 320
= 8,870
Al 4,435
- 4,435
301 et d=s 17,740 18,060 A 320
= 8,870
Al 4,435
- 4,435
NMJIEEd=s 17,740 18,060 A 320
FRILIHEHR2INE 17,740,000 17,740
= 8,870
Al 4,435
- 4,435
AMZHESME A HSXR 174,000 189,460 A 15,460
= 87,000
Al 43,500
T 43,500
301 et a = 174,000 169,460 4,540
= 87,000
Al 43,500
T 43,500
01 MEIBEE 263 174,000 169,460 4,540
OAZtHESE 174,000, 000& 174,000
= 87,000
Al 43,500
- 43,500
HAYHE Ol 23 5,368,840 5,242,811 126,029
= 1,356,283
J| 124,690
Al 2,586,079
- 1,301,788
HAas OtsEs 5,368,840 5,242,811 126,029
= 1,356,283
J| 124,690
Al 2,586,079
- 1,301,788
Ol & Ol &AL 21,120 16,560 4,560
201 Let24d] 21,120 16,560 4,560
01 At 22l 1,120 560 560
O= &l 1,120
— e oA FE S A HI
7,000 *2002! *80%< & &> 1,120
03 & Ar2 I 20,000 16,000 4,000
OUE ol g &AL 25,000,000 *80%<& 2> 20,000
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OtsAd=s4 172,000 128,800 43,200
Al 88,000
- 84,000
301 erE A 172,000 128,800 43,200
Al 88,000
- 84,000
01 A3l EE A 172,000 128,800 43,200
OJtZE S 150,000& 7021 12 126,000
Al 63,000
- 63,000
@S ERE= =
00,0003 x1421 %13 42,000
Al 21,000
- 21,000
Og&=aol 4,000
Al 4,000
OtE=XANE2Y 734,742 729,181 5,561
Al 734,742
307 21201 A 734,742 729,181 5,561
Al 734,742
10 AbBI = XIAl & 734,742 729,181 5,561
OOtS =X Al 734,742
— ol 676,326,000& 676,326
Al 676,326
— 293l 58,416,000 58,416
Al 58,416
Ots=XAIEX A 72,160 72,580 A 420
Al 36,620
- 35,540
301 L2 A= 22,200 22,260 A 60
Al 11,100
- 11,100
01 A3l 2 E A 22,200 22,260 AB0
ORES0t 22,200,000& 22,200
Al 11,100
- 11,100
307 21201 A 49,960 50,320 A 360
Al 25,520
2 24,440
(O I=IR=a= 1 = 9,480 11,850 22,370
Oots=x A (22 S
2,000& =40¢! 480
Al 480
O0ts=XALEEs2 HdEsE
600
Al 600
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M 0{EIIED
M HAHES Ot BS
Eel: HASs 0ts:Es (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOtS=EXNAI 2 A (ARESR)
17,500& 40021 128 8,400
Al 4,200
T 4,200
10 ALSISXAIEEE2EHEX 38,880 36,720 2,160
OOsEXANESMASESH
180,000& 18021 12& 38,880
Al 19,440
T 19,440
11T M Z2XAIS EX 1,600 1,750 A 150
OO0ts = XIAl & 5t Al =& Hl 15,000& 409! 600
Al 300
- 300
O0sS=EXNAEE N 1,000, 000& * 13| 1,000
Al 500
T 500
OtssSA K& 1,425,460 1,403,116 22,344
Al 965,315
T 460,145
307 glz2tol & 1,425,460 1,403,116 22,344
Al 965,315
- 460, 145
01 2222l 1,425,460 1,403,116 22,344
OotsS= A (141/4,000&) 1,425,460
— 8| = (29591) 101,480, 000& 101,480
Al 101,480
— 2srE(1,435¢) 516,600,000& 516,600
Al 258,300
- 258,300
— JIE34(553¢!) 807,380,000 807,380
Al 605,535
- 201,845
YeotsLdEs N 107,240 124,395 A17,155
J| 75,068
Al 16,086
- 16,086
301 et a3z 107,240 124,395 217,155
J| 75,068
Al 16,086
- 16,086
01 MI2ZE 6= 107,240 124,395 A17,155
OoggtsLdE==2 & 98,967,000& 98,967
J| 69,277
Al 14,845
T 14,845
ogdlEX& 8,273,000 8,273
J| 5,791
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SN &R
HEM: FAHS 0l 25
¢Helr MAS 0sEs CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
Al 1,241
- 1,241
Z0tSYLARE X2 9,068 9,153 A 85
J| 6,348
Al 1,360
- 1,360
301 LBt A= 9,068 9,153 N85
Dl 6,348
Al 1,360
- 1,360
01 AR E & A 4562 9,068 9,153 A\ 85
OIS LAU= 9,068,000 9,068
J| 6,348
Al 1,360
- 1,360
A= )| 2t2 XX & 21,235 17,732 3,503
J| 14,865
Al 3,185
- 3,185
301 et A= 21,235 17,732 3,503
J| 14,865
Al 3,185
- 3,185
01 Al B & A 462 21,235 17,732 3,503
OUd=p{)| 2t XA 21,235,000 21,235
J| 14,865
Al 3,185
- 3,185
OlS LS XFHI(EX) 70,033 94,464 N24,431
= 49,023
Al 10,505
- 10,505
301 et A= 70,033 94,464 N24,431
= 49,023
Al 10,505
- 10,505
01 Al E& A 252 70,033 94,464 N24,431
Oots &g Xl & H X 70,033,000& 70,033
= 49,023
Al 10,505
5 10,505
NE0otsHE 2294 X 1,689,844 1,696,990 NT,146
= 844,922
Al 422,461
- 422,461
307 giztol & 1,689,844 1,696,990 NT,146
= 844,922
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AN GEIEY
B FHo)E O 25
22 HAS OsES (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 422,461
T 422,461
10 ALSISXAIEEE2EHEX 1,689,844 1,696,990 AT,146
OXIOtSHE D222l 1,689,844,000% 1,689,844
2 844,922
Al 422,461
- 422,461
XNEotsdEe 228 K& (AlH]) 103,800 84,000 19,800
Al 103,800
307 glztol & 103,800 84,000 19,800
Al 103,800
10 A SXAEHE2EHIER 103,800 84,000 19,800
ONAOISHEZANSE2g
100, 000& x7201x12& 86,400
Al 86,400
OX<GotsHdHHH2H X & 17,400,000& 17,400
Al 17,400
S+ NYotsdH XA 100,296 0 100,296
= 50,148
Al 25,074
- 25,074
307 21201 & 100,296 0 100,296
= 50,148
Al 25,074
T 25,074
10 AL SXAIEEE2EH EX 100,296 0 100,296
S=NAotsHEHIIR 100,296, 000& 100,296
= 50, 148
Al 25,074
- 25,074
SE==8d N 23,328 29,760 A6,432
= 11,664
Al 5,832
T 5,832
307 glz2+ol & 23,328 29,760 N6,432
= 11,664
Al 5,832
T 5,832
11T MISAASEX 23,328 29,760 A6,432
OXNAOSHEHEL2R 5 23,328,000 23,328
= 11,664
Al 5,832
T 5,832
EREE A& 25,920 48,600 A 22,680
= 12,960
Al 6,480
T 6,480




AN GEIEY
HE: HANUS OIS B35
Eel: HASs 0ts:Es (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 2Iztol ™ 25,920 48,600 A 22,680
= 12,960
Al 6,480
- 6,480
11 AISI S XA E = 25,920 48,600 AN 22,680
OXNgotsdHER2 2 I 25,920,000& 25,920
= 12,960
Al 6,480
- 6,480
Ots=XN WA OtA XA 362,880 309, 120 53,760
2 181,440
Al 90,720
T 90,720
101 14l 362,880 309, 120 53,760
= 181,440
Al 90,720
T 90,720
04 JI2ZtHZ22 a2+ 362,880 309, 120 53,760
OO0ts= R W ALX & 362,880,000 362,880
= 181,440
Al 90,720
T 90,720
ST OFOI & 2 S HI KI ©) 142,000 158,000 A 16,000
Al 51,000
- 91,000
301 erB A 142,000 158,000 16,000
Al 51,000
- 91,000
01 Ml2ZE 6= 142,000 158,000 A 16,000
OATOLOI & 2=HIXI& 50,0002 *170Q1 12 102,000
Al 51,000
T 51,000
OXMot=sEHEAS K& 40,000,000 40,000
otsgR=2 3,382 2,026 1,356
201 et 2,422 1,066 1,356
01 At 2teltl 2,422 1,066 1,356
ozg=+¢ 1,750
— OSSN AR BA LY
70,0003 x7Q1 %13 490
—XNEotsdHAR A=Y
70,0003 62! «13] 420
—HeROIESARE B LY
70,000& 62! *23] 840
O= &l 672
—olsYeEN=2 A
7,0003 #1121 %1202 «80%<E &> 672
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SN HEINED
PRSI A= Ols B
o9l HAS 0tS28 (e9: & 9)
- _ _ RE]
M- o9 (B H) - MEAY - B2 %Ei HR=2
202 o4 | 960 960 0
01 2L I 960 960 0
O0lsg2=80u|
20,000& x 121 x50 L #80%< & 2> 960
IIEREOIs dMelXlgs KNN3 2,347 1,747 600
= 1,643
Al 352
- 352
307 2Iz2t0| & 2,347 1,747 600
= 1,643
Al 352
- 352
11 A EXAIEEX 2,347 1,747 600
Oy - JIEE0tsAl el X
2,347,000& 2,347
= 1,643
Al 352
- 352
RES0sI8E2Y 71,022 57,678 13,344
Dl 28,409
Al 21,307
- 21,306
307 212t0| & 71,022 57,678 13,344
J| 28,409
Al 21,307
- 21,306
10 M3 SXAEEHESIGHEX 71,022 57,678 13,344
OeBEssIEsE=Y 71,022,000& 71,022
J| 28,409
Al 21,307
5 21,306
BS0tsOEE29(AlHl) 6,480 4,320 2,160
Al 3,240
- 3,240
307 giztol & 6,480 4,320 2,160
Al 3,240
- 3,240
10 MM SAANEEHESIGHEX 6,480 4,320 2,160
O0ls1EEsMNNEERY 6,480,000& 6,480
Al 3,240
- 3,240
CEAEE S8 Ad 22 K& 204,483 254,589 AB0,106
= 204,483
101 e1214| 60,477 84,523 A 24,046
= 60,477
04 JI2ZtHIZ22XNSESE S 60,477 84,523 A 24,046
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AN GEIEY
B FHo)E O 25
22 HAS OsES (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OAMdAlZelIX 2+ 2d (CHEEESEE)
44,520,000& 44,520
= 44,520
OAMA 2l nsH LHH S 15,957,000& 15,957
= 15,957
201 Let2d] 28,830 30,300 21,470
= 28,830
01 At 2teltl 28,180 29,600 A1,420
SHEIES-X] 24,000
— CEAFREYE2AY] 19,000,0002 19,000
= 19,000
—CEHAEHEIJNEZZALEE=ME
5,000,0002 5,000
= 5,000
OfI&u=H| 750
— CEHABHENMZS W= 750,000& 750
= 750
o2g+g 1,470
— CYABERYARSBHSY
70,000& 9021 x 12 630
= 630
— HFHH &g HAH 70,0003 *321 x43] 840
- 840
O=gtl 1,960
— CYABEARETSAY
7,000 2011402 1,960
= 1,960
02 =24l 650 700 A50
OA & &EHI S X 650
—CHAHEMAS AN LAE S E 4HI
650,000& 650
= 650
202 04l 2,400 3,600 A1,200
= 2,400
01 SLHOYI 2,400 3,600 A 1,200
OEZAEBEYSFANH 20,000 22160 2,400
= 2,400
301 et A=z 96,776 126, 166 229,390
= 96,776
01 AR 2Z A5 3 94,736 120,706 A 25,970
OEEAEBIEAY XA XA A A ALY
94,736,000& 94,736
= 94,736
09 A HIE &S 2,040 5,460 A 3,420
OXJS AR A HI 2 & 2,040,000& 2,040
= 2,040
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M 0{EIIED
HE: HANUS OIS B35
22 HAS OsES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 13,000 10,000 3,000
= 13,000
01 222l 13,000 10,000 3,000
OdMALZZ JSHX ALY 13,000, 000& 13,000
= 13,000
405 XHoHE S HI 3,000 0 3,000
= 3,000
01 AL ESHSHI 3,000 0 3,000
O0l=SEAMHIAMERIANSTZEFTEH ALY
1,000, 0002 »3CH 3,000
= 3,000
dad B5 9 4 1,553,493 649,896 903,597
= 22,600
Xl 715,000
J| 123,259
Al 111,501
T 581,133
A&s 2448 24 1,553,493 649,896 903,597
= 22,600
Xl 715,000
J| 123,259
Al 111,501
T 581,133
HLAEAE2S 423,056 339,056 84,000
201 Let24E] 15,056 15,056 0
02 =224l 15,056 15,056 0
OFagdx=d2dE=R A 15,056
— 20 Ol ot 3, 100& *4,543.59m 14,086
— 158 0| ot 2,593@x373.84m’ 970
307 21201 A 408,000 324,000 84,000
05 RIZt2IE = 408,000 324,000 84,000
OFadsEd22dY 350,000,000& *17H £ 350,000
OFAHUESAT2 I 58,000,000 * 104 2 58,000
Faggu=soatdlol 24 150,238 150,228 10
J| 75,119
Al 37,559
T 37,560
307 2I2+0 & 150,238 150,228 10
J| 75,119
Al 37,559
T 37,560
11T MISXASEX 150,238 150,228 10
OFALAELNSOIIHIDI2G K&
150,238, 000& 150,238
J| 75,119

- 1656 -




AR GRS =

Hm: HAW 25 U 84
Sl AWE AW 54 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 37,559
T 37,560
FAUAMSHEZZ OH 21,835 19,442 2,393
201 £B-2d| 5,825 4,182 1,643
01 At 22l 3,965 2,384 1,581
O e8| 2,621
—HAUSHE 5,200 *6302! *80%< & 2> 2,621
O= &l 1,344
—HAUYRFTS2Z A
7,000 221+ 1202 «80%<E &> 1,344
02 =224l 1,860 1,798 62
O333LAA 1,860
—EATUERERS 600& *3,100A 1,860
202 oddl 1,920 1,920 0
01 = LH 4 1l 1,920 1,920 0
OBAEASETOY|
20,0003 #2021 «60 L *80%<E &> 1,920
301 g2 4= 1,940 1,940 0
09 HALAHIEAS 1,440 1,440 0
OFAIESSSHSHEH WAL EY
6,000& 202! «123] 1,440
1MIIEBEAS 500 500 0
OFAEURMHSZADENS 100, 000& x5 500
307 21201 A 12,150 11,400 750
02 YAFAAFEE 12,150 11,400 750
OYAIZUHE XA 2sAHHIXH
10,650, 000& 10,650
OHEALAEURNSBZAHEESAISHI XA
1,500, 000& 1,500
HAEX S A B X XA 65,280 63,120 2,160
| 32,640
T 32,640
307 glz2+ol & 65,280 63,120 2,160
| 32,640
T 32,640
1A SAAISEE = 65,280 63,120 2,160
OFAGEHAL XN XA 65,280,000 65,280
| 32,640
- 32,640
NEEALAEEAHIZ? 29 6,800 6,800 0
J| 3,400
- 3,400
307 21201 A 6,800 6,800 0
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=2 SR
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 e 2
p) 3,200
T 3,400
11 ASI S XA E X 6,800 6,800 0
OHAHS YA SH &
2,000,000 *20H 2~ 4,000
| 2,000
= 2,000
OHAEHNARSSH &
,800,000& *1J4 & 2,800
| 1,400
T 1,400
HdAadEs0te K& 28,750 26,250 2,500
= 11,500
Al 11,500
T 5,750
307 glz2tol & 28,750 26,250 2,500
= 11,500
Al 11,500
T 5,750
11T ASI S XA E = 28,750 26,250 2,500
OFAESOIE2S XA 28,750,000 28,750
= 11,500
Al 11,500
- 5,750
HAUOSE0Y X 27,750 28,000 A250
= 11,100
Al 11,100
- 5,550
307 21201 A 27,750 28,000 A 250
= 11,100
Al 11,100
- 5,550
11T MISRASEEX 27,750 28,000 A 250
OHLEZEESIR 27,750,000 27,750
= 11,100
Al 11,100
- 5,550
dAa4@ E8XR 17,284 17,000 284
| 12,100
Al 2,592
- 2,592
301 YerE A 16,884 16,600 284
| 11,820
Al 2,532
- 2,532
01 MeI2EZE+06l= 16,884 16,600 284
OSEXNAHAEAEX A 16,884,000& 16,884
| 11,820
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AN GEIEY
Hm: HAW 25 U 84
el A[E HAW |A (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 2,532
T 2,532
307 glz2tol & 400 400 0
J| 280
Al 60
- 60
11T M Z2XASEEX 400 400 0
OSENdaHadE "2 400,000& 400
J| 280
Al 60
T 60
a2 SE2S 812,500 0 812,500
Xl 715,000
Al 48,750
- 48,750
401 A& BIZ 201 8] 812,500 0 812,500
Xl 715,000
Al 48,750
T 48,750
01 A& HI 811,000 0 811,000
OHAGUxdHHISES 811,000,000 811,000
X 713,680
Al 48,660
T 48,660
03 AlE 2 THHI 1,500 0 1,500
OFadxgRAISEZ 1,500, 000& 1,500
Xl 1,320
Al 90
- 90
HH2LZH(HLIIED) 140,301 117,218 23,083
= 65,517
T 74,784
el 2 120,633 98,716 21,917
= 65,517
T 55,116
ol 2l 55,116 53,305 1,811
101 1244 dl 55,116 53,305 1,811
01 2= 55,116 53,305 1,811
OAlZt 28+
9,649 x16Q! *35A] 2t x 12& »85%< & 2> 55,116
QAU (EHAEE) 65,517 45,411 20,106
= 65,517
101 14 Hl 65,517 45,411 20,106
= 65,517
03 RIAHAZZ2 B+ 65,517 45,411 20,106
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